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Q1. We sat on the floor to eat dinner and he

(appreciate) the fresh food my mother served.

1) had appreciated

2) appreciated

3) will appreciate

4) no improvement

Solution : 2

Use ‘appreciated’ in place of ‘appreciate’.



Q2. We sat there (enjoy) the view.

1) enjoyed

2) enjoying

3) enjoys

4) no improvement

Solution : enjoying

use participle ‘enjoying’ instead of verb ‘enjoy’ to

connect the sentence.

Example – There was a beautiful girl sitting next to

him.



Q3. What seeds you (has sow) in the garden of

your mind determine the quality of life you

shall have.

1) sowing

2) sow

3) had sow

4) no improvement

Solution : sow

Explanation: – general / common / universal truth

should be expressed in simple present tense.



Q4. My daughter (comes running) as fast as her

little feet can take her while her eyes sparkle

vivaciously.

1) comes run

2) come running

3) came run

4) no improvement

Solution : 4) no improvement



Q5.We (is influenced) by what we see, what we

hear.

1) was influenced

2) are influence

3) are influenced

4) no improvement

Solution : are influenced



Q6. The trick is in (keep) the flavours simple

and fresh.

1) keeping

2) keeps

3) to keep

4) no improvement

Solution : 1) keeping

Explanation – Preposition should be followed by

‘V+ing’ except ‘to’. Use ‘keeping’ instead of ‘keep’.



Q7. It is nothing less than magic which (will

transformed) tiny teeny seeds into fruits of life.

1) transform

2) transforms

3) transforming

4) no improvement

Solution : 2) transforms

General statement / truth should be written in

simple present tense.



SYNONYMS questions 

asked in SSC exams



Q8. Impoverished

1.spendthrift

2.generous

3.wealthy

4.penniless

Solution: 4 Impoverished- reduced to

poverty

Spendthrift- extravagant



Q9. STERN

1. Mellow

2. Proud

3. Shrewd

4. Strict

Solution: 4

Stern - strict

Mellow - soft, tender

Shrewd - cunning,

tricky



Q10. No sooner did I come out of my home to go to

market (1)/ when it started raining heavily (2)/ which

drenched me completely. (3)/ No Error (4).

( SSC CGL, 2017)

Here in the part (2) ‘when’ should be replaced with than. 



Q11. Five summons have been (1)/ issued by the district

court (2)/ but he has not turned up yet. (3)/ No Error (4)

( SSC CGL, 2017)

Summons is a noun while summon is a verb. 

Summons (n) – A notice summoning someone to appear in 

court. 

singular – summons , plural- summonses . 

Summon (v) – to ask someone to come/attend. 

Turn up – make an appearance, appear, be present.

Use plural form summonses instead of summons.



Q12. Acceptance is not about allowing

everything to occur or to go on, (1)/ is it neither

related to passivity and weakness, (2)/ nor is it

about confirmation or mediocrity. (3)/ No error

(4)

( SSC CGL, 2017)

Solution: 2

Replace ‘is it’ with ‘it is’ as the 

given sentence is not a question .



Q13. She was (1)/ quite amusing (2)/ at that

story. (3)/ No error (4)

( SSC CGL, 2017)

Solution: 2

Replace ‘amusing’ with ‘amused’. Amused at/by 

something- thinking that someone or something 

is interesting, so that you smile or laugh. 

Example- We were  amused at her jokes.





Find the synonym of Stoical

1.ruffled

2.apathetic

3.panicky

4.equivocal

HOME WORK



The process was too simple and easy to

understand that it hardly took five minutes for

us to grasp it.

(1) No error

(2) and easy to understand that it hardly

(3) took five minutes for us to grasp it

(4) The process was too simple

HOME WORK ANSWER




